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Standard costing is a method of costing which measure the performance or an activity by comparing actual cost with standard cost, analyse the variances (deviations) and reporting of variances for investigation and appropriate action. Official Terminology of CIMA, London defines standard costing as “Control technique that reports variances by comparing actual costs to pre-set standards so facilitating action through management by exception.”
Standard Costing is a method of costing which is used as a control tool by the management.  Controlling is a principal function of management along with planning, directing and staffing.  Every organisation sets a goal and to achieve it management of the organisation make plans, get these plans executed and monitor the work for any deviation from the plan. Please note the word deviation. Deviation means the amount by which a single measurement differs from a fixed value such as the mean or standard (here it is used in the context of cost accounting). Deviation is measured by comparing actual figure with the standard figure
Standard cost is defined in the CIMA Official Terminology as “'the planned unit cost of the product, component or service produced in a period. The standard cost may be determined on a number of bases. The main use of standard costs is in performance measurement, control, stock valuation and in the establishment of selling prices.”
Advantages of Standard Costing: 
Following are the advantages of standard costing. 
(i) It serves as a basis for measuring operating performance and cost control. By setting standards, proper classification and determination of variances, is possible. This serves as a signal for prompt corrective action. This system provides for reporting on the principle of exception. The basis of this principle is that only matters which are not proceeding according to plan are reported upon. This enables the managers to concentrate upon essential matters and leave the non-essentials to take care of themselves. By using special forms, any excessive time taken, extra material used or additional services consumed can be brought to light as part of the ordinary routine. In other words, if the variances are negligible, it means that the performance is more or less in accordance with the standards. Significant variances which warrant the attention of the manager are brought to his knowledge. 
(ii) [bookmark: _GoBack]It aids price fixing.  Standard costing can be used to predict costs.  Although actual cost may vary from day to day, standard costs will remain stable over a period of time and, where demand for a product is elastic, this information can be used as a basis for fixing the selling price. 
(iii) Introduction of standard costing facilitates evaluation of jobs and introduction of incentives. Job values can be determined by the use of evaluation and scale of wages fixed according to the responsibility involved in each job. 
(iv) Standard costing facilitates the estimation of the cost of new products with greater accuracy. 
(v) It serves as a basis for inventory valuation.  Standard costs are used for inventory valuation because actual costs are not typical and less clerical work is involved in carrying standard value into inventory records than actual value.  A further advantage of this procedure is that material stock can be recorded in terms of quantities only. 
(vi) Standard costing is also used for the measurement of profits. The question of correct approach of calculating profit is very much related to stock valuation and to the methods of dealing with the absorption of fixed overheads. Standard costing will eliminate any variations in profit due to changes in the values of stock holding from period to period and will thus provide a true basis for the measurement of profit. 
(vii) Standard costing greatly aids business planning, budgeting and managerial decision making.  Standard costs being pre-determined costs, are particularly useful in planning and budgeting. 
(viii) Standard costing aids in standardisation of products, operations and processes. Since standards are laid down for each product, its components, materials, operations, processes etc., it improves the overall production efficiency and reduces costs.
(ix) It provides objectives and targets to be achieved by each level of management and defines the responsibilities of departmental managers. Standard costs are predetermined on the basis of reasonable and achievable level of output. The departmental head, therefore, comes to know what is expected of him and his level of performance in comparison to the targets can be seen from the variance reports. Thus the system serves as an incentive to the departmental head to achieve the targets set by the company.
(x) Standard costing sets a uniform basis for comparison of all elements of costs. Since care is taken in setting standards, the standards become unchanging units of comparison. The standard hour may be used as a basic unit to compare dissimilar products or processes. 
(xi) The maximum use of working capital, plant facilities and current assets is assured because wastage of materials and loss due to idle time are closely controlled. 
Criticism of Standard Costing 
The following are some of the criticism which may be levelled against the standard costing system. The arguments have been suitably answered as stated against each by advocates of the standard costing and hence they do not invalidate the usefulness of the system to business enterprises. 
(i) Variation in price: One of the chief problem faced in the operation of the standard costing system is the precise estimation of likely prices or rate to be paid.  The variability of prices is so great that even actual prices are not necessarily adequately representative of cost.  But the use of sophisticated forecasting techniques should be able to cover the price fluctuation to some extent.  Besides this, the system provides for isolating uncontrollable variances arising from variations to be dealt with separately. 
(ii) Varying levels of output: If the standard level of output set for pre-determination of standard costs is not achieved, the standard costs are said to be not realised. However, the statement that the capacity utilisation cannot be precisely estimated for absorption of overheads may be true only in some industries of jobbing type.  In vast majority of industries, use of forecasting techniques, market research, etc., help to estimate the output with reasonable accuracy and thus the variation is unlikely to be very large. Prime cost will not be affected by such variation and, moreover, variance analysis helps to measure the effects of idle time.
(iii) Changing standard of technology: In case of industries that have frequent technological changes affecting the conditions of production, standard costing may not be suitable.  This criticism does not affect the system of standard costing. Cost reduction and cost control is a cardinal feature of standard costing because standards once set do not always remain stable. They have to be revised.
(iv) Attitude of technical people: Technical people are accustomed to think of standards as physical standards and, therefore, they will be misled by standard costs.  Since technical people can be educated to adopt themselves to the system through orientation courses, it is not an insurmountable difficulty.
(v) Mix of products: Standard costing presupposes a pre-determined combination of products both in variety and quantity. The mixture of materials used to manufacture the products may vary in the long run but since standard costs are set normally for a short period, such changes can be taken care of by revision of standards. 
(vi) Level of Performance: Standards may be either too strict or too liberal because they may be based on (a) theoretical maximum efficiency, (b) attainable good performance or (c) average past performance. To overcome this difficulty the management should give thought to the selection of a suitable type of standard. The type of standard most effective in the control of costs is one which represents an attainable level of good performance. 
(vii) Standard costs cannot possibly reflect the true value in exchange.  If previous historical costs are amended roughly to arrive at estimates for ad hoc purposes, they are not standard costs in the strict sense of the term and hence they cannot also reflect true value in exchange.  In arriving at standard costs, however, the economic and technical factors, internal and external, are brought together and analysed to arrive at quantities and prices which reflect optimum operations. The resulting costs, therefore, become realistic measures of the sacrifices involved. 
(viii) Fixation of standards may be costly: It may require high order of skill and competency. Small concerns, therefore, feel difficulty in the operation of such system. 
Basic Formulas 
1. Material Variance 
1.1  Material costs variance = (Standard quantity x Standard Price) – (Actual quantity x Actual  price)     
  		MCV = (SQ × SP) – (AQ × AP) 
1.2  Material price variance  = Actual quantity × (Standard price – Actual price)
MPV           = AQ × (SP – AP)  
1.3  Material usage variance  = Standard price (Standard quantity – Actual quantity)  
MUV = SP × (SQ –AQ) 
Check: 
1.4  Material cost variance = Material usage variance + Material price variance  
MCV = MUV + MPV
Classification of Material Usage Variance 
Material usage variance is further sub-divided into: 
i) Material mix variance 
ii) Material yield variance. (Or Material sub-usage variance) 
1.5  Material mix variance = (Revised standard quantity – Actual quantity) × Standard price 
 	MMV      = (RSQ – AQ) × SP
1.6 Material revised usage variance = (Standard quantity – Revised standard       quantity) × Standard  price 
MRUV =  (SQ – RSQ) × SP 
1.7  Material yield variance = (Actual yield – Standard yield) × Standard output price 
MYV = (AY – SY) × SOP 
Check: 
Material usage variance = Material mix variance + Material yield variance 
MUV = MMV + MYV 
Or 
1.8  Material usage variance = Material mix variance + Material revised usage variance 
MUV  = MMV + MRUV 
Note: Material revised usage variance is also known as material sub – usage variance. 
In each case there will be only one variance either material yield or material revised usage variance.

2. Labour Variance 
2.1 Labour Cost variance = (Std. hours for actual output x Std. rate per hour) – (Actual     hours x Actual rate per hour) 
LCV  = (SH x SR) – (AH x AR) 
2.2 Labour rate variance = Actual time (Std. rate – Actual rate) 
LRV = AH x (SR – AR) 2.3 Labour efficiency (or time) variance = Std. rate (Std. hours for actual output –        Actual hours) 
LEV  = SR x (SH – AH)  
Check: 
2.4  Labour cost variance = Labour efficiency variance + Labour rate variance 
LCV  = LEV + LRV 
Classification of Labour Efficiency Variance 
Labour efficiency variance is further divided into the following variances: 
(i) Idle time variance 
(ii) Labour mix variance 
(iii) Labour yield variance (or Labour revised-efficiency variance) 

2.5 Idle time variance = Idle hours x Standard rate 
ITV             = IH x SR 
2.6  Labour mix variance = (Revised std. hours – Actual hours) x Standard rate 
LMV                   = (RSH – AH) x SR 
2.7  Labour revised efficiency variance = (Std. hours for actual output–Revised std. hours)  x Standard rate 
LREV          = (SH – RSH) x SR 
2.8  Labour yield variance = (Actual yield–Std. yield from actual input) x Std. labour     cost per unit of output 
 LYV           = (AY – SY) x SLC 
Check: 
Labour efficiency variance = Idle time variance + Labour mix variance + Labour yield      variance (or labour revised efficiency variance)
 LEV      = ITV + LMV + LYV (or LREV)


	BASIS OF DIFFERENCE
	STANDARD COSTING
	BUDGETS

	What?
	 A technique which uses standards for costs and revenues for the purpose of CONTROL through variance analysis 
 Concerns the establishment of DETAILED performance levels, together with the related costs and revenues per unit and in total for the planned activities of the org 
 Is used in the construction of budgets (budgeted sales qty multiplied by the standard = sales figure for the profit and loss a/c)
	 a PLAN quantified in monetary terms, prepared and approved PRIOR to a DEFINED PERIOD of time, usually showing planned INCOME to be generated and/or EXPENDITURE to be incurred during that period, and the CAPITAL to be employed to attain a given objective.
 Concerns the OVERALL plans of the org and assignment of responsibilities for control over revenues and expenditure

	Denote Different Ideas
	 Standard costing denotes a unit idea. It outlines, what a unit should cost 
 eg: cost per unit is Rs.1
	 budget denotes a “total idea”  e.g. total production cost = Rs.10000

	Different aims
	 Standard costing seeks to procure efficient utilization of material, labour and indirect services
	 Budget seeks to lay down a monetary limit of expenses, which should not be normally exceeded.

	Different scope
	 Standard costing relates primarily to one function i.e., production mainly deals with manufacturing cost only
	 Budgets are laid down for all functions of an organisation like production, purchase, selling and distribution and research and development

	Treatment of Income and Expenditure
	 standard costing is mainly confined to expenditure only
	Budget preparation considers both income and expenditure




Question 1. KPR Limited operates a system of standard costing in respect of one of its products which is manufactured within a single cost centre.  The Standard Cost Card of a product is as under: Standard  								Unit cost ( Rs.)
 Direct material 		5 kgs @ Rs.  4.20 				21.00 
Direct labour 			3 hours @ Rs.  3.00  				 9.00 
Factory overhead 		Rs.1.20 per labour hour   			3.60  
Total manufacturing cost 							33.60 
The production schedule for the month of June, 2007 required completion of 40,000 units.  However, 40,960 units were completed during the month without opening and closing work-in process inventories. 
Purchases during the month of June, 2007, 2,25,000 kgs of material at the rate of `  4.50 per kg.  Production and Sales records for the month showed the following actual results. 
Material used 2,05,600 kgs.  
Direct labour 1,21,200 hours; cost incurred 			Rs.  3,87,840 
Total factory overhead cost incurred 				Rs.  1,00,000 
Sales 								40,000 units 
Selling price to be so fixed as to allow a mark-up of 20 per cent on selling price. 
Required: (i) Calculate material variances based on consumption of material. (Ans.65,040 (A), 61,680 (A), 3,360 (A))
(ii) Calculate labour variances and the total variance for factory overhead. (Ans: 19,200 (A), 24,240 (A), 5,040 (F), 47,456 (F))
(iii) Prepare Income statement for June, 2007 showing actual gross margin. 
(IV)An incentive scheme is in operation in the company whereby employees are paid a bonus of 50% of direct labour hour saved at standard direct labour hour rate.  Calculate the Bonus amount.

Question No.2 UV Ltd. presents the following information for November, 2008: 
Budgeted production of product P = 200 units.  
Standard consumption of Raw materials = 2 kg. per unit of P.  
Standard price of material A = Rs.  6 per kg.  
Actually, 250 units of P were produced and material A was purchased at Rs. 8 per kg and consumed at 1.8 kg per unit of P.  Calculate the material cost variances.
(Ans: 600 (A), 900 (A), 300 (F)

Question 3. The following information is available from the cost records of Vatika & Co. For the month of August, 2009: 
Material purchased 24,000 kg Rs.1,05,600
Material consumed 22,800 kg 
Actual wages paid for 5,940 hours Rs. 29,700 
Unit produced 2160 units. 
Standard rates and prices are:
Direct material rate is Rs. 4.00 per unit 
Direct labour rate is Rs. 4.00 per hour 
Standard input is 10 kg. for one unit 
Standard requirement is 2.5 hours per unit. 
Calculate all material and labour variances for the month of August, 2009.
(Ans: MCV: 13920 (A), MPV: 9120 (A), MUV 4800 (A) LCV 8100 (A), LRV 5940 (A), LEV 2160 (A)
Question 4 SB Constructions Limited has entered into a big contract at an agreed price of `  1,50,00,000 subject to an escalation clause for material and labour as spent out on the contract and corresponding actual are as follows: 



 Standard 					Actual 
Quantity (Tonnes) 	Rate per Tonne 	Quantity (Tonnes)  Rate per Tonne  
( Rs. ) 					 ( Rs,)
 Material:     
A 			3,000 			1,000 			3,400 		1,100 
B 			2,400 			800 			2,300 		700 
C 			500 			4,000 			600 		3,900 
D 			100 			30,000 			90 		31,500
Labour: 	Hours 				Hourly Rate 		Hours 		Hourly Rate   
( Rs. )  					(Rs.) 
L1 		60,000 				15 			56,000 		18 
L2 		40,000 				30 			38,000 		35 

You are required to: (i) Give your analysis of admissible escalation claim and determine the final contract price payable. 
(ii)	 Prepare the contract account, if the all expenses other than material and labour related to the contract are Rs.  13,45,000. 
iii) Calculate the following variances and verify them :  (a) Material cost variance (b) Material price variance (c) Material usage variance (d) Labour cost variance (e) Labour rate variance (f) Labour efficiency variance.

Question No.5 The standard labour employment and the actual labour engaged in a 40 hours week for a job are as under:  
Category of Workers 		Standard 					Actual 
No. of workers     Wage Rate per hour    No. of workers    Wage Rate per hour
Skilled			 65 			45 			50 		50 
Semi-skilled 		20 			30 			30 		35 
Unskilled 		15 			15 			20 		10 
Standard output: 2000 units; Actual output: 1800 units  
Abnormal Idle time 2 hours in the week  
Calculate:  (i)  Labour Cost Variance  (ii) Labour Efficiency Variance   (iii) Labour Idle Time Variance.
Question No.6 The standard labour employment and the actual labour engaged in a week for a job are as under :    
Skilled workers    Semi-skilled workers  Unskilled workers 
Standard no. of workers in the gang 		32 		12 			6 
Actual no. of workers employed 		28 		18 			4 
Standard wage rate per hour 			3 		2 			1 
Actual wage rate per hour 			4 		3 			2
 During the 40 hours working week, the gang produced 1,800 standard labour hours of work. Calculate : 
(a)  Labour Cost Variance   (b)  Labour Rate Variance (c)  Labour Efficiency Variance   (d)  Labour Mix Variance (e)  Labour Yield Variance

Question No.7 The following standards have been set to manufacture a product:  
Direct Material:						(Rs.) 
 2 units of A @ Rs 4 per unit 					8.00  
3 units of B @ Rs. 3 per unit  					9.00 
15 units of C @ Rs. 1 per unit 					15.00  
32.00 
Direct Labour: 3 hrs @ Rs. 8 per hour 				24.00 
Total standard prime cost 					56.00 
The company manufactured and sold 6,000 units of the product during the year. Direct material costs were as follows: 
12,500 units of A at Rs. 4.40 per unit 
18,000 units of B at Rs 2.80 per unit 
88,500 units of C at Rs. 1.20 per unit 
The company worked 17,500 direct labour hours during the year. For 2,500 of these hours, the company paid at Rs. 12 per hour while for the remaining, the wages were paid at standard rate. Calculate materials price variance and usage variance and labour rate and efficiency variances.
(Ans: MPV: 19100 A, MUV: 500 A LRV: 10000A, LEV: 4000F)

Question No.8 The standard and actual figures of a firm are as under  
Standard time for the job   1,000 hours  
Standard rate per hour    Rs. 0.50  
Actual time taken     900 hours  
Actual wages paid    Rs. 360  
Compute the variances
(Ans: LRV: 90F, LEV: 50F, LCV: 140F) 

Question No.9 The standard mix to produce one unit of product is as follows:   
Material X  60 units @ Rs.15 per unit  =    900   
Material Y  80 units @ Rs. 20 per unit  = 1,600   
Material Z 100 units @ Rs. 25 per unit   = 2,500     
    240 units      			     5,000 
During the month of April, 10 units were actually produced and consumption was as follows:    Material X   640 units @ Rs. 17.50 per unit = 11,200   
Material Y   950 units @ Rs. 18.00 per unit = 17,100   
Material Z   870 units @ Rs.27.50 per unit = 23,925     
     2460 units     		           52,225 
Calculate all material variances.
(Ans: MCV: 2225A, MPV: 1875A, MUV: 350A, MMV: 900F, MYV: 1250A)
Question No.10 NXE Manufacturing Concern furnishes the following information:  
Standard: Material for 70 kg finished products   100 kg.  
Price of material  Rs. 1 per kg. 
Actual: Output 2,10,000 kg.  
Material used  2,80,000 kg.  
Cost of Materials Rs.  2,52,000 
Calculate: (a) Material usage variance, (b) Material price variance, (c) Material cost variance.
(Ans: 20000F, 28000F, 48000F)
Question No.11 The standard cost of a chemical mixture is as follows: 
40% material A at Rs. 20 per kg. 
60% material B at Rs. 30 per kg. 
A standard loss of 10% of input is expected in production. The cost records for a period showed the following usage : 
90 kg material A at a cost of Rs. 18 per kg. 
110 kg material B at a cost of Rs. 34 per kg. 
The quantity produced was 182 kg. of good product. Calculate all material variances.
(Ans: MCV: 102.22A,  MPV: 260A,  MUV: 157.78F)


